FTYaYy

DS—80Ver2—S1 ik

HEOBEBE7/ Y-ty b DS—02P & SPCC. STKR. SS400(a U ). ASA/PP. ABS(/ 71 M), PVC(+TBilty-h)
BB RZE N /5 — DS—03P Bie YW= (770 ViR )
AVx v P Xy b DS—04P ARAEE / IMNSTE #45.5kg / W850Xx D850X H1630mm
_ _ _ B DS—05P BEREs T4 AT L AEAS: 45kgL1'F/$ﬁWi%l3 : 10kgll-l;
(n | T 0S—06P 57 ATVA14 X 37~B0R (1= A—F L7 5y FAY b )X T
|  iEmen 9S_07pP TR TEES 1430+ 1530+ 1630(P=100. 3@fEHEE)
== j_f_{ﬁ:/\é_ s XTI 77 | pEARTE (0. 5 10% 15)
e e e 9 — BHAE /GEHE 200 ME(F+ AT LA B88 )% 3 / KERA296N(30kgf) (BB )* 3
T o |[Tr7ATYF US—T0P i B KEBAIS7H N % 3
o BB 1025mmx 3
N J Xv AY— 10057 WA by A-Bik(EROEILY /EHOEED *2)
[]]j mt mft& 8 1oA— LR
g 300, I ] WY < X /BEBHE]  W810xD400mm / & 38EE=(500- 700+ 900, P=200). RAMERS itk 3i
810 BEAAY k14X (mm) W815x D140x H134
850, 442 18 BHAAY FLRAEE B 3akEE (500 700+ 900. P=200)
] 749347 £94%(mm) W140x D63.5x H683
e O A\ 7193870~ B & 38%E%(900- 950+ 1000. P=50)
= == . 355 sk 149387~ 194X(mm) | W300x D345LIK
— — hrIRE7V - EBER 3.0kgiAR
! B Jy 755y (BERMAI)N
—ﬁ— 10 BaME % (mm) 2185 : W910x D1245x HB0< £ 4 v T L = 1>
M , 3 W875x D875% H240< A4 v ¥~ - A « g 1Hr>
= moLng #54kg
o T 385 1 5 ROHSES - 5 — VAL ES
= e 1 [F¢ ATLA RS FAMAE]
I TIT ~KF (F+ ATUVABAA)
A 3 _ 4
= D%ﬁ | 345 FERH L7 2L %6
) {l; M _L) (M4x 18. M5x20. M6x 30. M6x50. M8x 25. M8x 45. M8x50)
2] 8 3| S - AfBFy b :%6 (M4 M5, MB. M8) EnmES: %6 (W5 HU8)
- = N ' N TE2: 6 (WU8) BHR:6 A~-v—:8 (621x12 A48)
S~ ol 4|d \'ﬁ (BRETA)
2 34| = S| = 400 ' +ZRA7E AN U BSAA (MAX 10): 1 +ZRME~a U BELER (M5X 15): 10
: SIRS | +ERM7E MU ESAIR(MEX 15): 2 FHERN b (+ERMA7ANI L ELAR (M5 15)): 1
2 —| - RERLE(MBX20): 4  HRES (H08): 4
A ol g W FES(FU8): 4 MWR:1 AABAAF(xvA5-HA): 1
SR I- HEG $100%v 25— : 4(DH2BEITLA by A-WEEME) HFRES(FVET2): 4
| | (7 A5A2%Y F]
@ ! @ S| S @ (F«ATLAASY FRAA)  +ZRM~< ML EREA (M5X 70) : 2
‘ ‘ [ oy 0 (BSMAIRA)
. 850 | 850 TERABANMICBRAA(MEX 15) 14 /T&L b 22 BREEER/ THN b 1
! X ZBEAY — b ;1
*1 —BRABTEROT ATLAABYET, (@Eﬁﬁﬁ/\y kvl NS
%2 EME360BERY Y3 Y TEETRTS. (7 (ATVAATY KA )
¥3 7.27UABRASKG. 7« ATLAEOEE 1400mm. BMELBRWEL. MESHE 900mm. 74 7L 4 AL OB, N N TERMEAMACERAA(MEX 15) : 4 FER (BE)M14 : 4(lEL OREFA ORAFITE )
BT 2T LA 5 Y OBEE 17 r7y-—vBAERES] BURBHRAE: | WRHAS 1
¥4 Tory LEBRTRERVAG 5B, MEERERCRUAOTOTTREO, RoHSHT IS S
%5 AARRBEBICATEMUNHDY T,
HREH [ #R Bl DATE [
= — . o - 1
QS tRlE+t 2—1 A FUATLALARSY ey b DS—80ver2—ST1 a3 16 | mm |2015/11 | BRTHE




